Math 232 Calculus 2 Fall 25 Spring a Part 1

Soluhaas

Name:

e | will count your best 10 of the following 12 questions.

e You may use a calculator without Computer Algebra System capabilities, and
a single US letter page of notes, but no phones or other assistance.

® You must show your work to receive credit for a question.
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(2) Find ] 2*In(z) dz, carefully showing which technique of integration you use.
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(5) Find the geometric area between the curves y = x and y = 9/z between
z=2and z =6.
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(6) Find the volume of revolution obtained by rotating the region under the graph

of f(z) = 2y/x about the y-axis over the interval [2,4]. Sketch the solid and
explicitly state the method you use.
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Math 232 Calculus 2 Fall 25 Spring a Part 2

Name: g"’b""h'@“f'ﬁ

e [ will count your best 10 of the following 12 questions.

e You may use a calculator without Computer Algebra System capabilities,
and a single US letter page of notes, but no phones or other assistance.

e You must show your work to receive credit for a question.
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(7) Find the sum of the following infinite series:
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(8) Explain whether the following series converges or diverges, indicating clearly
which tests you use.
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(9) Explain whether the following series converges or diverges, indicating clearly

which tests you use.
o

AP ahe faf UMI (fg ;

E.
n— oM

n

-_— - ws
@I/\

-

n=1

ey




12

(10) (a) Find the power series for e™*" centered at z = 0, and calculate it’s radius

of convergence.
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(b) Use your answer above to find a power series for [ e dr.
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(11) Counsider the power series Z M

(a) Find the center and tﬁ:radms of convergence. a‘l I (D\*l) (‘Ji. i)
qr
adkr azt o of g oK b nru—s)

Qi ZHlxos |G = Hx-3] < 3] < “-r’f‘m
Yo WhlG e gl psieg gt

(b) Now investigate the endpoints of the interval you got in part (a), to get
the exact interval of convergence as well.
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(12) Calculate the arc length of the function f(z) = 3z%2 over the interval 1 <
s 3
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